import java.util.Scanner;

puklic class InputScannerSampleMethods
{

puklic static woid main(String args[ 1)
i

int number;
char letter;
String word;

Scanner keyboard = new Scanner (System.in);
f/decl riable (st ge) of =scan
(programmer
create an object
of scanner)
address of the

System.out.princ ("Flease e
number = keyboard.nextInt():
System.out.print ("Your number

method of Scanner
" + number):;

values to int data type

kevboard.nextLine | );

System.out.print ("Are you
word = keyboard.nextLine(
letter = word.chardt(0):

System.out.print (letter);
System.out.print ("texXT en
System.out.print (" W

yet? (Yes or No)"):

2 space sSo output does not run

System.out.print ("Pleass snter words separated by a space: ");
word = keyboard.next():
System.out.println("lst word: " + word):
word = keyboard.next():
System.out.println("2Znd word: " + woxrd):
word = keyboard.next():;
System.out.println{"3rd word: " + word):;
keyboard.useDelimiter ("!");
System.out.print ("Please enter ee words separated by t© "y
word = keyboard.next():
System.out.println("lst word: " + word):
word = kevboard.next():;
System.out.println("?nd word: " + word):
word = keyboard.next ()

word: "

System.out.println| + woxd) ;

ing main method
class header

--—-3jGRASP exec: java InputScannerSampleMethods

Please enter an integer wvariable: 23

Your number was: 23Are you having fun, yet? (Yes or No)¥Yes
Ytext end Watch your white space so output does not run together!Please enter three words separated by a space:
1st word: one

2nd word: two

3rd word: three

Please enter three words separated by the ': f

l=t word:

four and twenty

2nd word: five

3rd word: six

L ----JGRRSP: operation complete.




